Spo=s 2024 ACHOIS: Win-Q BSHEA7IAF A17| B2/ 8- 74 22H 2

2| ERY T4 42
198p d
2 @ZnA9 EE:2:21:2 @AmIausE:2:9:2
T8 Aw ey 28
212p 24CH
#5:5
O 0
b (a) (b) (a)
@ _~_ ~. 3 (@)~ N~ 5
HC O () © HC 0 b ©
0] 0
43 AR e o5
247p aA-22
G 01 N2 oixizislol =2 Lnxt ich §2 S 100mLoll Ni™*S 591 $ 20mLE 2510 NaOHZ S3HAIZ!
% OPMEA BUOE pH 5,52 2EAIF|1L 0.05285M EDTA-2Na 82 20.00mLE 75t XIAIQLS FO|
" 0,02220MO 2 HHSIHCILI SLHOIN FUS LIEIHRICE
D ARERE Ak FORIA) 242,
é 91&';'5}:—: ©] 0,02299M Zn®* 17.41mL7} ARSE] ke YAROA] Ni*te] Bisrwio T:',__Z'"O'”kl 7\"}\'5\_' 002229M Ol'EH ® T‘?_‘Z'"O‘”}\'IE 002299M§
@ HIAI=|0f 219t 20| 0.02229M2 £ HBHLICH,
@ Ni** %:— =‘(}), 05285M * 20,00mL) - (0,02229M X 17 41mL) = 0,6689311mmol
Sye= 0,6689311mmol — 0,0334M
249p qe
we s w BRI} AAI0] T2t 24| HE2S offe} 20|
Tt
© mEEs - (13-4—13.45)>+ (14.2 - 13.45)° + (12.4 — 13.45)° + (13.4 - 13.45)° + (14.5— 13.45)° + (12.7— 13.45)°
6-1 (13.4—13.45)" +(142—-13.45)" + (12.4—1345)° + (13.4—13.45)" + (145 13.45)" + (127~ 13.45)°
© B - 13.4—13.45 14. 13.45) 1 13.4i )671134 13 14. 13.45) 1 13.45)
- V06670
= 0.8167
T8 AR A AMA 27
249p =
M35
B A = H 2 = L - 1 i - T P
@ 24t = (0.6670min) = 0.4449min’ @ 24 = (0.8167mink = 0.6669min’
0-6670 0.8167
@ HEASE = ——— X 100% = 4.96% o Ea s o ol ;o ey
=TT T 1345 @ BsA = 5= * 100% = 6.07%




2024 Altholl Win-Q 2FetR M 7|AF /7] T18H4-71H2

SDOR=

= = A =
212 25FY - TE=F
255p 2H-22 ES Rl
215 15 BaC04 - H:02t CaCo04 - HO7t EEE AR 0.5527g2 TR SHEZ|0IM 7HEEIEIL], 320~400CO]

M 0.4917g, 580~620TCOolAl= 0.4162g2] HFES HLLCt
D A7 3] 50| 9l Ca” + Ba' 9] Wk WREE T S(, Ca] VAL 40, 0amy, Ba®] PATL

137, 3amuo]ch),
@ ca’ : Ba”to] A2 B4l uE vehfAlL,

@ 320~400C o)A Zo| WALz
580~620CollA] (0.4917 — 0.4162)g = 0.0755g%] CO7} MAUZT)
0.0755g CO = 0,0755g X (Imol/28g) = 2,69643 X 10 "mol = (BaCOs + CaCOsjmol
BaC0:9] B42 X, (aC0:9] B4 269643 X 107°-X T2 T9,
(187.3+12+16<3)g

T 197.3Xg

BaC0:9] == Xmol X

(40.0+12+16<3)g _

x 107 -
Tmol 100(2.69643 < 10 X)g

CaC0:9] A= (2.69643 X 10"~ X )mol X

0.4162g)= Ba00:9} CaC0s7F 0] Ut}

0.4162g = 197.3 Xg + 100(2,69643 < 10737X)g
X = 1506238 X107

BaC0,9] B> = 1506238 X 10 mol

(1506238 > 10~ *mol ) < 1574g
1mol

Ba’ 0] Wk MlHg — 55 X 100% = 37.42%

CaC0s®] B2 = (2,69643 X 10— 1506238 X 10 mol = 1,190192 X 10 *mol

(1190192 10 3mol) = 08
1mol

Ca®*o] Fwy wHg = T5527s X 100% = 8,61%
W (37,42 + 8.61)% = 46.03%
@ ca™ @ Ba’ = 1190192 X 107 : 1506238 < 107°
. (SRR

20234 W3 E2 JIE222H w 265

® Ca?*:Ba2* = 1.190192 x1073 : 1.506238 x1073
12611

oX
fob

® Ca* :Ba?* =1.190192 x1073 : 1506238 x1073

1

~1:1.26

S2 H AASR Ame Lt

EMe| 2R B
| 2l se2tate AlCHRSE0| SIZELICH

gn
o Lhe £MES ST 98l =




